College Chemistry I
Chapter 2 – Homework

1. Name the following compounds.

a. K3P

b. Ca(HCO3)2
c. Mn2S7
d. NbPO4
e. N2O5
f. SiO2
g. HCl (aq)

h. Fe(CN)3
i. V2Se5
j. NaOH

k. AgI

l. CO

m. IF3
n. HCN (aq) 

o. CCl4
p. H3PO4 (aq)

q. NiCO3
r. BH3
s. PdF4
t. (NH4)3N

u. ZnBr2
v. SO3
w. H2S
2. Give the formulas for the following compounds.

a. disulfur tetafluoride

b. hydrogen iodide

c. strontium chloride

d. ammonium thiosulfate

e. bismuth (V) phosphide

f. copper (I) acetate

g. nitrogen dioxide

h. sulfur tetrachloride

i. perchloric acid

j. mercury (II) cyanide

k. aluminum nitrite

l. titanium (II) chloride

m. cadmium sulfide

n. hydroiodic acid

o. selenium trioxide

p. carbon dioxide

q. nitric acid

r. lithium fluoride

s. tin (IV) selenide

t. dinitrogen monoxide

u. boron trichloride

v. zinc chromate

w. cobalt (III) hydroxide

3. Helium has two naturally occurring isotopes:

3He (0.000137% abundant) 

4He (99.999863% abundant).
Calculate the average atomic mass of helium. (Note: Assume that the isotopic mass = mass #)

4. Titanium has five naturally occurring isotopes:

46Ti (8.25% abundant) 

47Ti (7.44% abundant) 

48Ti (73.72% abundant) 

49Ti (5.41% abundant) 

50Ti (5.18% abundant)

Calculate the average atomic mass of titanium. (Note: Assume that the isotopic mass = mass #)

5. Iron has four naturally occurring isotopes:

54Fe (5.845% abundant) 

56Fe (91.754% abundant) 

57Fe (2.119% abundant) 

58Fe (0.282% abundant)
Calculate the average atomic mass of iron. (Note: Assume that the isotopic mass = mass #)

6. Fill in the following table.
	Symbol
	# protons
	# neutrons
	Mass #
	Atomic #
	# electrons
	If charged, Preferable  Charge?

	Sc - 45
	
	
	
	
	
	

	
	35
	45
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	114
	
	
	
	NA

	Y
	
	50
	
	
	
	NA

	
	15
	16
	
	
	
	

	204Tl
	
	
	
	
	
	NA

	
	
	
	252
	99
	
	NA

	Fe3+
	
	
	56
	
	
	NA

	
	34
	45
	
	
	36
	


	 7. 
	Atoms X, Y, Z, and R have the following nuclear compositions:
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Which two are isotopes? 


	A.  
	X & Y


	B.  
	X & R


	C.  
	Y & R


	D.  
	Z & R


	E.  
	X & Z


	8. 
	Which of the following ions occurs commonly? 


	A.  
	N3+


	B.  
	S6+


	C.  
	O2-


	D.  
	Ca+


	E.  
	Cl+


	9. 
	Which of the following ions occurs commonly? 


	A.  
	P3+


	B.  
	Br7+


	C.  
	O6+


	D.  
	Ca2+


	E.  
	K-


	10. 
	Which one of the following combinations of names and formulas of ions is incorrect? 


	A.  
	O2- oxide


	B.  
	Al3+ aluminum


	C.  
	NO3- nitrate


	D.  
	PO43- phosphate


	E.  
	CrO42- chromate


	11. 
	Which one of the following combinations of names and formulas of ions is incorrect? 


	A.  
	O2- oxide


	B.  
	Cd2+ cadmium


	C.  
	ClO3- chlorate


	D.  
	HCO3-  bicarbonate


	E.  
	NO2- nitrate


	12. 
	Which one of the following combinations of names and formulas of ions is incorrect? 


	A.  
	Ba2+ barium


	B.  
	S2- sulfate


	C.  
	CN- cyanide


	D.  
	ClO4- perchlorate


	E.  
	HCO3- bicarbonate


	13. 
	Which one of the following combinations of names and formulas of ions is incorrect? 


	A.  
	NH4+ ammonium


	B.  
	S2- sulfide


	C.  
	CN- cyanide


	D.  
	S2O32- thiosulfate


	E.  
	ClO3- perchlorate
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